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(1) ab(a+b) —2bc(b—c) + ca(2c — a) — 3abc % NS 2 & LR,

2) HAREn 2V DOhD1 L 2DMTRT L IORL HFOKRBE aln) L35, /272U, HOEFEER &
UAIFREILEL LT, HlxE 4=24+2, 4=2+1+1, 4=14+1+14+1THh3725, a(4) =3
THD. 20X, a=1[ 7 |, a(2014) = TH5.
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(3) ¥ {a,} OWENPSEnHEETOMS, KBS, = n——i-l(abét%’ ap = , kgla_k =
ThHb.

(4)0<0<nrF5%. sinf+cosO=t2F2L, tDOLY D DIEDHPHIL <t< ThY,
sin@ +cos 0 + 2sin 20 OEAAEIE [ 7 |, BuMEE Thd.

(5) logy64 = Thd. £/, 22 1 THRVIEDHE TS L ¥, logyr? —log,64 <1 %A= T x DO
L TH%.

(6) f(x)=sin2zx &F2r%, f(x)= Thd. F7i, fo? sin® 2z cos 2z dx = Ths.




